M

bw\ﬁa = (os @ ,Nﬁ i mS\_ G \A\ S ; k\. <3a lm
..... - 75 =7
%@( \;0 ?\s\_*e\u \,Na ~ 10 DL\ G NA\QQ N
T -6
...... \EB s g \\5 n ﬁ;\ G/




| S e T T et
- = M, £ 07 GV ron m?% < Ohuey

N B | s

7 \SQ\*\\S@&\Y«\MW .\\ . . ] . \.\.thn







~ Dirac \wﬁ f\@ . c\? ...... \?%\?@ »ﬁ *so \E&&&S
e B akiad




— it v @
RIS S
£ ﬁ. %s\\,\,\v@s\\i mo Nl . .i £ v

[

A U S
it basks (2] soppesston ° :

. V.= - T4, = 70 s
E. 9. ,&Hmh. — HSe A1« R | B




JELEE
......... ¢ i:,g.::;ﬁxm
W ace  (weley, moelnix - U phyesc
@ww&e&z& S
ok 23 mandiy)
LA .§_qu .%\s,e oo b ia 3@%&
............. )1 o= =S ley) |
..... n%@m A \ w W . w Ly aim i
| " e
8\1&:% 3 \.QV” .... \% l S

o ..¢ s@&;& ?& ?\c ?s\\\&v ov %éﬁ?%&m



e L T [146) (g 4m ) 0 [140)
= 0T O



o »r\o.iy\.\&ww@.%@f
, \ \w\@,Q\S\ss \Fss\b;._\sem. .

mass Nw.\.xs 2ot een .

07 qet

q\ :si&m\ ; 3; vw&m\u %0

.__N\ \Sm%in LMy, o w« o ...

T, 2 0% ms = My L6, 10V = My £ 060 (07700 N\

Vs, Cosimalesys Zim: £0.50V 2 My £ 0,75,/



i o)
4@&wﬁwyv .Q. o
. :_z?, o
| d St =
.....ﬂw*s;as@ ¢

W
W RWJJJJ
:..Q5L§§§..,.
o Blad - Ry




